0 if j =0 and W[0] > i

V(0] if j=0and W[0] < i
Bli][j] =
Bli][j — 1] if W[jl>i

min{V[j] + B[/ — W[]I[j — 1],
Blillj — 1]} otherwise




20/S
20/S
20/S

20/T

20/S
20/S
20/S

20/T

20/S
20/S
35/T

20/T

90/S
90/T
35/T

20/T

110/S
110/T
35/T

20/T

120/T
110/T
35/T

20/T

125/S
125/T
35/T

20/T

5

6

7



(0 if (i =0orj=0)and a[i] # b[j]

1 if (i =0orj=0)and a[i] = b[/]
LIAUT =
1+ L[i—1][j —1] ifi#0andj#0 and a[i] = b[/]

max{L[i][j — 1],
L[i —1][j]}  otherwise







(0 ifi=j

MUIDT=\' i 1A+
D[i] x D[k] x D[j]+ otherwise
MIK]l + 1]}




